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(D) jo” f (cos X)dx = 2 ff f (cos X)dx

(3) jl xdx ( )

0(2-x*)J1-x*
wmzr ®»E o oI
2 3

4
(4) FHIBEAS )2 ( Do

e n-1 n+l ©

(A) Z% (B) Z(\/n+2—2\/n+1+\/ﬁ)
n=1 n=1

(©) i 2N (D) iq"cosnx(|q|<1)
= 3n+1 ~

BHH AR e (2

H
-
H
S
=



(5) THIYETEEILHE ( Do
1

(A) /—;,\f(x):{(lﬂ)*' X#0 0 3 f(x) Ko%= K00
1 , x=0

X + x%e™

nx !

(B) 4 f(x)=Ilim

n>+o 4@

xeR, M f(X) LR

1 xXNEHEH

» N D(X) Jofdes i, H AN A ] pR 2
0, xJyTEHEL ] D(X) AR, EASE A TR 2

©) é\D(x):{

(D) # f(x) M00, 1] FAiEkmmE . £(0)=0, f@)=1, M f(x) T LARE0, 1] 1

AT —ME
(6) AR IERIIZ ( Do

(A) Iimsin(ﬂ n2+1):0, neN.

N—-+o0

tan x —sin x

x>0 sin® X
(¢ lim L+L+...+ ! =1, neN.
e 1.2.3 2.3-4 n-(n+1)-(n+2) | 3

(D) lim x(——arctan X) —%

X—>+00

(7) HEFmENa0<a<) B x*+y° =a®, idi P =(0,2) iz & A )k,

PIASHN ATIB, & APAB NZEIL=4M1, NZEAEEN ( Do
wB e gl ol
3 2 2

(8) .[:dx.[oﬁexz”zdy: ( )e

(A %(e—l) (B) %(e—l) © e-1 (D«

(9 (ﬁ«/x2+y2dx+ y|:ln(x+«/x2+y2)+xy}dy: ( ), Horh L SRR X 45 ABCD
L

RS 5 ), A (3, 2),B(6,2),C(6,4),D(3,4) .

(A) 50 (B) 52 (C) 28 (D) 56

>
Im
ﬂir
-

;.
3%
g
S
&
=)
P2
S
p=|



(10) BERH Y, (X), Y, (X) A B RBCEEF R 72y "(X) + py '(X) +ay(xX) =0 i
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© Y1 ()Y, () =y, (X)y;'(x) =0
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